As® 2,000
CIE- BEHGHETFRAML)

AfFa—X 1h./6[] 9,600
BYFRAAEDT 1h.76[g] 9,600
—BLyRY 1h,/8[H] 13,000
—BELYRY AV ELBRAH 1h,/8[H] 14,000
BREXMEI—R 1h,/8[E 14,800
TSAR—FLYRY (VA DFBEAAT) 1h/1[H 4,200
—#a—= EHBER | BEHEGLERTFRM)

WordE 1h./ 8[| 13,000
WordE@Ea1—RD 1h./ 8[| 13,000
Word/it: F 1h./ 8[| 13,000
WordiEEa—R©Q 1h./ 8[| 13,000
Excel & 1h.78[g] 13,000
ExcelfEREa—RD 1h./ 8[| 13,000
Excellit 1h./ 8[| 13,000
ExcelfEREa1—RQ 1h./ 8[| 13,000
PowerPointE i 1h.”78[g] 13,000
AccessE 1h./ 8[| 16,000
Access/i 1h./ 8[| 16,000
Y—T1I7/REI—R EHER | BEHEGIETEAM)

3kt E (Word) BT & 1h./8[H] 14,800
3k *t 2K (Excel) 1h./ 8[| 14,800
Power Pointf&7E x1 %k (#0#k. £#R) 1h./8[H] 14,800
3kt (Access) 1h./8[H] 14,800
1,285 % (Word) IS FHIET & 1h./8[H] 14,800
1,28kt 2R (Excel) 1h./ 8[| 14,800
1,3k ER =B X 2R (Excel) 1h./ 8[| 14,800
1,2#% 513K (Access) 1h./8[H] 14,800




